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Use the signs to make these correct. < >

Here are the temperatures of the superhero hideouts at 10 am. and 10 p.m.

Temperature
Superhero Hi >
10am. 10 pm.
Lee Caves e 1
Firs Cavern 3zc 27¢
Plasma Palace zc
Hero Hideaway s o

At 10 pm., how many degrees colder were the Ice Caves than Plasma Palace?

. J

Which hideout was 9 degrees warmer at 10 am. than 10 p.m?

C__J

Here is part of @ number line.

Write the missing numbers in the boxes.
<10

-5

cJ- J
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The cover of this book has Roman numerals written on it

Write MCMLXX in figures.

Look at these numbers written as Roman numerals.

Circle the smallest number.
MDeL MMV Mmcce

What is the value of the greatest number?

Look at these Roman numerals.
ceeLxxxan

Write the number in figures.

|

MMmccL

ikl
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Write the missing digits to make these calculations correct

Write the missing numbers to make these calculations correct.

7,040,030 = 7,000,000 + :] +30

In each row, tick the calculation that has the greater answer.

69 + 383 = 393.7 +58.38 =

8,703 - 549 = 8,818.8 - 764.8 =

The numbers in this sequence decrease by the same amount each time. Write
the next number in the sequence.

54,396, 53,846, 53,296, 52,746, [:

Tick the correct methods for calculating 359 - 94 mentally, starting from 359

subtract 100 then add 6 add 6 then subtract 90

subtract 6 then subtract 100 subtract 4 then subtract 90
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1 have 4,561 stickers in my collection. T buy 3 large packs of stickers. Each
large pack has 37 stickers. I add these to my collection. Then, I give 125
stickers to my brother. How many stickers do I have in my collection in total?

Show
wour
metnod.

stickers

At the start of the day, there were 2,874 computer games in the shop. During the
day, 369 more computer games were delivered and 481 computer games were
sold. How many computer games were left in the shop at the end of the day?

Show
wour
metnod.

There are 3,500 buttons in a tin. Two people take 375 buttons each. Three more
people take 405 buttons each. How many buttons are left in the tin?

Show
wour
metnod.

buttons
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1 buy four magazines. Each magazine costs the same. I pay with a £20 note
My change is £7.76. What is the cost of one magazine?

Show
wour
method

This table shows the number of people going to the local cinema each month

March 45,619
April 52985
May 49,021
June 50092

@) How many people, to the nearest thousand, went to the cinema in total over
the four months?

Show
wour
methad

people

b) What is the difference, to the nearest hundred, between the number of people
who went to the cinema in March and April?

Show
wour
methad

people
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Write the missing digits to make these calculations correct

6 8 9 5

: N

Write the missing numbers to make these calculations correct.

Here is a number pyramid. The number in each box is the product of the two
numbers below it. Write the missing numbers.

675

Write the correct symbol, <, > or =, in each box to make the
statements correct.

12 %12 14 x 10 150750[3210770
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A shopkeeper is packing eggs. Each box holds 8 eggs. The farmer has 1,230
eggs. How many full boxes can the farmer pack?

Show
wour
metnod.

Full boxes

A group of friends earn £161 by washing cars. They share the money equally
They get £23 each. How many friends are in the group?

Show
wour
metnod.

friends

A box contains trays of tomatoes. There are 45 tomatoes in a tray. There are 4
trays in a box. A supermarket sells 50 boxes of tomatoes. How many tomatoes
does the supermarkt sell?

Show
wour
metnod.

tomatoes
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There are 34 pupils in a class. The teacher has 7 litres of orange juice. She
pours 180 millilitres of orange juice for every pupil. How much orange juice is

left over?

Show
wour
metnod

ml

Write the missing numbers to make this multiplication grid correct

1 buy some apples at the shop. I can buy 12 individual apples for 57p each or a
bag of 12 apples for £6.50. Which s the cheaper option? Explain your reasoning.

12 individual apples for 57p

A bag of 12 apples for £6.50
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Put these fractions in order of size, starting with the smallest.

3 1 A 2
3 3 12 3
smallest greatest

The numbers in this sequence increase by the same amount each time.
Write the missing numbers.

In each box, circle the number that is greater.

12 1.55 13 18

1.9 15 1.67
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Write the missing numbers in these equivalent fractions

4

12

5

90

Circle the improper fraction that is equivalent to 47

Tick the calculation that is the best estimate.

44 .11 .15

-1+2

5-1+2

-2+2

4-1+1

1 spent £1.40 on a drink and £1.70 on a sandwich. I have three fifths of my
money left. How much money did T have to start with?

Show
your
method
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Yesterday, I read 3 of my book. Today, I read the remaining 152 pages to
finish the book. How many pages are there in my book?

Show
gour
method

pages.

One fruit smoothie contains 2 of a carton of orange juice. I make 7
smoothies. Calculate, as a mixed number, how much orange juice I use
altogether.

Show
gour
method

cartons

Lond 3
In this circle, 2 and 3 are shaded
What fraction of the whole circle is not shaded?

Show
gour
method





image14.png
What fraction of this diagram is shaded?

Show
gour
method

1 make @ model out of 25 cubes.
What percentage of the cubes in the model are blue?

Show
gour
method
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Write the number 654,082 in words.

Look at this number.

35,094,206

Write the digit that is in the ten thousands place.

1l

Write the digit that is in the millions place.

The numbers in the sequence decrease by the same amount each time.

1,327,845 1,317,845 1,307,845 1,297,845

What number would come next in the sequence? [:

Write the number that is two hundred less than three million.

)

Write the number that is forty thousand less than three million.

]





image2.png
Round 1,307,845

to the nearest 100
to the nearest 1,000
to the nearest 10,000

Complete the table and show the numbers rounded to the nearest thousand.

rounded to the nearest thousand

1,207
12,078
129,784
1,207,845

a s c i\i

£217,086 £217,806

3
£217,860

Order these prices starting with the lowst price.
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